
SAP ABAP table CRMC_DEVTYPE_TIM {Useful Lives for Device Classes}

CRMC_DEVTYPE_TIM

CLIENT [CLNT (3)]

SALES_ORG [CHAR (14)]

DISTR_CHAN [CHAR (2)]

DEV_TYPE_GRP [CHAR (10)]

VALID_FROM [DATS (8)]

CRMC_DEVTYPEGR

CLIENT [CLNT (3)]

SALES_ORG [CHAR (14)]

DISTR_CHAN [CHAR (2)]

DEV_TYPE_GRP [CHAR (10)]

 CRMC_DEVTYPE_TIM-DEV_TYPE_GRP = CRMC_DEVTYPEGR-DEV_TYPE_GRP 
0..N

1

CRMC_DISTCHAN

CLIENT [CLNT (3)]

DISTCHAN [CHAR (2)]

 CRMC_DEVTYPE_TIM-DISTR_CHAN = CRMC_DISTCHAN-DISTCHAN 

0..N

0..N


